



KANSAS CORPORATION COMMISSION ORIGINAL OIL & GAS CONSERVATION DIVISION

September 1999 Form Must Be Typed

WELL COMPLETION FORM.
WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 30535	API No. 15 - 165-21826-0000					
Name: Hartman Oil Company	County: Rush					
Address: 10500 E. Berkley Square Parkway	N/2 NE SW Sec. 28 Twp. 18 S. R. 16 East ♥ West					
City/State/Zip: Wichita, Kansas 67206	1201 feet from Sy N (circle one) Line of Section					
Purchaser:	1075 feet from E W circle one) Line of Section					
Operator Contact Person: Jim Morton	Footages Calculated from Nearest Outside Section Corner:					
Phone: (_620)791-7187	(circle one) NE SE NW (SW)					
Contractor: Name: H2 Drilling LLC	Lease Name: Wagner Well #: 1-28					
License: 33793	Field Name: Otis-Albert					
Wellsite Geologist: Wes Hansen	Producing Formation: Reagan Sand					
	Elevation: Ground: 2043 Kelly Bushing: 2054					
Designate Type of Completion: New Well Re-Entry Workover	Total Depth: 3587 Plug Back Total Depth: 3715					
	Amount of Surface Pipe Set and Cemented at 995 Feet					
	Multiple Stage Cementing Collar Used? ☐Yes ☑No					
Gas ENHR SIGW	If yes, show depth setFeet					
Dry Other (Core, WSW, Expl., Cathodic, etc)	If Alternate II completion, cement circulated from					
If Workover/Re-entry: Old Well Info as follows: Operator:	feet depth tosx cmt.					
·						
Well Name:	Drilling Fluid Management Plan AIF I NUR					
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit) 12-23-0%					
Deepening Re-perf Conv. to Enhr./SWD	Chloride content <100 ppm Fluid volume 160 bbls					
Plug Back Plug Back Total Depth	Dewatering method used Hauled Offsite					
Commingled Docket No	Location of fluid disposal if hauled offsite:					
Dual Completion	Operator Name: Pauls Olifield Service					
Other (SWD or Enhr.?) Docket No.	Lease Name: Miller License No.: 31085					
8-12-08 8-20-08 8-30-08	Quarter NW Sec. 6 Twp. 19 S. R. 16 East West					
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Barton Docket No.: 21324					
·	Journy.					
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of	h the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.					
All requirements of the statutes, rules and regulations promulgated to regul herein are complete and correct to the best of my knowledge.	late the oil and gas industry have been fully complied with and the statements					
James I Who A	KCC Office Use ONLY					
Signature: 14 42 00						
Title: Production Supt. Date: 11-12-08	Letter of Confidentiality Received					
Subscribed and sworn to before me this 12th day of Novambal	If Denied, Yes Date:					
2008	Wireline Log Received					
Notary Public: Benda Chanel Jeisea	Geologist Report Received RECEIVED UIC Distribution KANSAS CORPORATION COMMISSION					
Date Commission Expires: Notary Public State of Kansas	NOV 2 0 2008					
	₩					
My Appt Exp <u>08/27/2010</u>	CUNSERVATION DIVISION WICHITA KS					

CUNSERVATION DIVISION WICHITA, KS.

perator Name: Hart	artman Oil Company Lease Na							8		
c Twp18	S. R. 16	East	✓ West	Cour	nty: Rush		<u> - 1 2</u>			
sted, time tool oper mperature, fluid rec	now important tops and closed, flowing covery, and flow rates surveyed. Attach	g and shut-i es if gas to s	n pressures, arface test, a	whether along with	shut-in pre	ssure reached	static level, hydr	ostatic pressu	res, botton	n hole
rill Stem Tests Take		✓ Ye	s 🗌 No		V L	og Format	ion (Top), Depth	and Datum	s	Sample
amples Sent to Geo	•	☐ Ye	s 🗹 No		Nam	е		Тор	C	atum
ores Taken		∖ ∐ Ye	s 🗸 No	Heebner Shale				3160		-1223
ectric Log Run		V Ye	s 🗌 No		Lansi	ing		3240 -130		1303
(Submit Copy)					Reag	an Sand		3473	-1	1500
st All E. Logs Run:							(
oual Porosity,	Dual Inductio	n,Micro.					`			
						1				
		Repor		RECORE conductor,		ew Used ' ermediate, produ	ction, etc.			•
Purpose of String	Size Hole Drilled	Size	Casing (In O.D.)	\ v	Veight os. / Ft.	Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
Surface Pipe	12.25"	8.625"	<u> </u>	24#		995	Common	450	Na	
Production	7.875"	5.5"		14#		3752	ASC	150	Na	
			ADDITIONA	L CEMEN	ITING / SQ	JEEZE RECOR	ID .			
Purpose:	Depth Top Bottom	Type of Cement		#Sacks Used		Type and Percent Additives				
Perforate Protect Casing		1							•	
Plug Back TD Plug Off Zone				-						,
						<u> </u>				
Shots Per Foot			D - Bridge Plu		pe		acture, Shot, Ceme Amount and Kind of N		ord	Depth
spf	3678.5-3680.5	, rootago o c			· <u> </u>	None		, ,		-
							· · · · · · · · · · · · · · · · · · ·			
								YANG		EIVED
					· · · · · · · · · · · · · · · · · · ·			IVANSA		ATION COMM
									MOY 7	2008
TUBING RECORD	Size	Set At	· · · · · · · · · · · · · · · · · · ·	Packe	er At	Liner Run	Yes V	lo	CUNS FIVA	TION DIVISION
	875" rd Production, SWD or	3286 Enhr.	Producing Me	NA ethod		1			771721	maj na
9-10-08					Flowin	ng 📝 Pum	ping Gas I	Lift O	ther (Explain)
Estimated Production Per 24 Hours	Oil 12	Bbls.	Gas	Mcf	Wat 100	ter	Bbls.	Gas-Oil Ratio		Gravity
Disposition of Gas		COMPLETIC)N		<u> </u>	Production Int	erval			
Vented Sold			Open Hole	• [] F	Perf.	Dually Comp.	Commingled			· · · · · · · · · · · · · · · · · · ·
(If vented, S	ubmit ACO-18.)		Other (Spe	ecify)						

)



24 S. Lincoln Street

P.O. Box 31

Russell, KS 67665-2906

Voice: Fax: (785) 483-3887

(785) 483-5566

INVOICE

Invoice Number: 115644

1

Invoice Date: Aug 21, 2008

ie:

Page:

Bill To:

Hartman Oil Co., Inc. 4550 W. Nine Mile RD Garden City, KS 67846

> S3033 Well Name# or Customer P.O.

RECEIVED ANG 2 8 2008

Customer ID	Well Name/# or Customer P.O.	Payment	Terms
Hart	Wagner #1-28	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1	Great Bend	Aug 21, 2008	9/20/08

Quantity	. Item	D	escription	Unit Price	Amount/
2.00	MAT	Gel		20.25	40.50
100.00	MAT	ASC Class A		16.70	1,670.00
500.00	MAT	Kol Seal		0.85	425.00
12.00	MAT	Salt		21.25	255.00
500.00	MAT	ASF		1.10	550.00
130.00	SER	Handling		2.25	292.50
1.00	SER	Minimum Handling Mile	eage (Sharge ID#	300.00	300.00
1.00	SER	Long String	ACCOUNT #	1,957.00	1,957.00
18.00	SER	Mileage Pump Truck		7.50	135.00
1.00	SER	Manifold Head Rental	SUB ACCOUNT#	110.00	110.00
1.00	EQP	Guide Shoe	DATE TO PAY	186.00	186.00
1.00	EQP	Insert	JIB DATET	285.00	285.00
5.00	EQP	Centralizers		55.00	275.00
1.00	EQP	Rubber Plug	DESCRIPTION	71.00	71.00
			DATE ENTERED		
				RE	CEIVED
			11.6	KANSAS CORP	ORATION COMMISSION
			NGW WELL	NOV	2 0 2008
					~ 0 Z000
			A +	CONSER	ATION DIVISION
		Y IN	Mehrer	W	CHITA, KS
		8)	26)0x		-
ALL PRICES A	RENET PAYARI	F Subtotal			6.552.00

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 655 20

ONLY IF PAID ON OR BEFORE

Sep 20, 2008

312410	
Subtotal	6,552.00
Sales Tax	199.15
Total Invoice Amount	6,751.15
Payment/Credit Applied	•
TOTAL	6.751.15

ALLIED©EMENTING CO., LLC. 32832

MIT TO P.O. BOX 31 RUSSELL, KANSAS 67665 SERVICE POINT:

GreatBend

			· · · · · · · · · · · · · · · · · · ·				·
DATE 8-21-08	SEC.	TWP. 185	RANGE 16W	CALLED OUT 12:00 Am	ON LOCATION 2:30 Am	JOB START 8 45 Am	JOB FINISH 9:45 AM
DATE 8-27-08	20	1700	, , , , , , , , , , , , , , , , , , , ,			COUNTY	STATE
LEASEWagher	WELL#	1-28	LOCATION 968	OTIS BIKTOF	153W	RUSH	KS
OLD OR NEW (Cir	rcle one)		Ninto		•		
			1777710				
CONTRACTOR /	1-20	rilling	<u> </u>	OWNER Ha	erTman c	7//	
TYPE OF JOB Lo	ng st			_			م المالية الم
HOLE SIZE 7	8	T.D		CEMENT			SHKOKEN
CASING SIZE 5	2		тн <i>3758'</i>		RDERED 100		and
TUBING SIZE	,		PTH	_ <u>500 64</u>	265 \$ 51		
DRILL PIPE H	2		TH				
TOOL			PTH			@	
PRES. MAX			NIMUM	COMMON_ POZMIX		@ 	
MEAS. LINE	1.000		DE JOINT /9:/8	POZMIX GEL	<u> </u>	@ <u>20,25</u>	40,50
CEMENT LEFT IN	CSG.	19:18'		GEL CHLORIDE			
PERFS.	<u> </u>		. 92 RR/c		100	@ 16,70	11,70,00
DISPLACEMENT			r 92BB45	Kelseel	500 4	_ @ <u></u>	425.00
	EQU	UIPMENT		Solt	12		255.00
				4Sf	ice cal	@ 1.10	550,00
PUMP TRUCK	CEMENT	TER DW	ayne W	RECET	SEE COMMISSION		
# 181	HELPER	Ric	/< H	KANDAG CORPORAL	(Ob) Continue	@	
BULK TRUCK				NOV 2	0 2008	@	
# 344	DRIVER	150	vin W			@	
BULK TRUCK				CONSERVAT	ION DIVISION	@	
#	DRIVER			- HANDLING	1117, 175	@ 2/35	292.50
				MILEAGE _	130x 18 A		300,00
	DT	EMARKS:		1,11231102			L-3533,00
OF ASFPU	mpsi	BBL5 Wa	pumpsoo6 etar Behind atand ma	2	ОВ <u>3750</u> 1		
OUMP THE	REST	OFTH	e loosx of	PUMP TRUC	CK CHARGE		1957.00
ASC SHUT	DOVA	Wash	upand	EXTRA FOO		@	
REULSEDA	0109	DIVAD	TIP HOLD P	ZJS MILEAGE_	18		<u> 135.00</u>
To 500 # To	1000R	PSI D	1/s10 92 BBLS	MANIFOLD	Head Ren	7 @ 110,00	> 110:00
Rig Do	WN						
V V /V						@	
CHARGE TO: H	arTh	an a	<i>:</i> /				
CHARGE 10. LL	() //	10011		- · · ·		TOTA	L2302 C
STREET							•
CITY	c	TATE	ZIP				
C11 1		1A16		_	PLUG & FLO	AT EQUIPME	ENT
			,				
, K				1-5/2 601	Pe Shoe	@ 18i_c	0 186.60
Kneyou To Allied Comer				1-52 FNS			0 385.00
X 40°	C-	110		5-5 ECENT		@55.c	0 27500
10 Amed Cemer			mantina aquimmant	I SEL DIO	BEFPIUS		7/.00
			menting equipment			@	
			to assist owner or				y j a va
contractor to do	work as	is listed.	The above work wa	S		TOTA	L 817.00
'P .		_	n of owner agent or			1011	-0,,,
			and the "GENERA"	ርለ፤ ፔር ፕለን	(If Any)		
TERMS AND C	CONDIT	IONS" liste	ed on the reverse sid	ic.			
				TOTAL CHA	ARGES		
DDINITED NIAME	×12/2	20 11-12	Ca \$ 4	DISCOLINT		IE D/	ALD IN 30 DAVS
PRINTED NAME	LVVE	July (T	71	DISCOUNT		II. FF	TIP II JU DATO
		1011	/ ·				
SIGNATURE 🗸	11/1	724					